MEN BRIER

¥ #H T304 1 H3H
B L K % OUT IN GROSS Hcp NET Bz E % OUT IN GROSS Hecp NET
B 5 F L (¥ F 40 48 88 23 65 31 M KX = M 44 58 102 17 85
2 8 B E B 46 43 89 19 70 32 I X JE = 471 51 98 12 86
3 B ¥ & A 45 49 94 24 70 33 F JII E F 44 57 101 15 86
4 H E E H 39 45 84 13 71 34 H B O FH 51 47 98 11 87
5 B B {8 & 45 45 90 18 72 35 =ZYREAB 55 59 114 27 87
6 K A 2 F 45 54 99 27 712 36 Il H ¥ 49 53 102 15 87
7 ¥ U = B 38 45 83 10 73 37 Jjn B IE — 54 53 107 18 89
8 {E ” K Fl 1 44 43 87 13 74 38 Il & W A& 49 50 99 10 89
9 M BN F E 47 46 93 19 74 39 M BN FE H 48 55 103 14 89
10 3 & F B 44 45 89 14 75 40 H B E X 54 56 110 20 90
11 & & 8 E 41 55 96 21 75 41 E B ® £ 53 56 109 18 91
12 # K E ¥ 43 48 91 15 76 42 Ik A & # 52 58 110 19 91
13 5 B F {E 40 50 90 14 76 43 H 1 # B 54 61 115 23 92
14 = 8 S AN 45 43 88 11 77 BB # K A B 44 54 98 6 92
15 50 B B sh 41 42 83 6 77 45 T & + BB 68 65 133 23 110
16 % 0O B B 41 48 89 12 77 NR F &FE # g 3

17 = . Bl 37 44 81 3 78

18 X # £ 49 54 103 23 80

19 ¥ B & A 48 56 104 24 80

20 ¥ H I 54 54 108 27 81

21 & A E £ 40 51 91 10 81

22 h0 Fk BY 8h 48 46 94 12 82

23 # K & X 45 51 96 14 82

24 ¥ Kk F M 4 56 97 15 82

25 /N JIl IE F 48 48 96 13 83

26 ¥ [ g 44 53 97 14 83

27 &b L & 41 53 94 11 83

28 ¥ B BE X 46 54 100 16 84

20 # R E & 38 55 93 9 84

30 M B/ X® X 45 52 97 12 85




MEN BRIER

48 ERE3041H3H
B L K % OUT IN GROSS Hcp NET Bz K OUT IN GROSS Hecp NET
B = )l IE Bl 42 48 90 29 61 31 B H F ® 50 51 101 16 85
2  H = f 41 42 83 15 68 32 [f =7 E 49 52 101 14 87
3 M £ E A& 33 40 73 5 68 33 0 @ B 42 48 90 3 87
4 H E FE H 45 50 95 25 70 34 = H# T — 50 58 108 21 87
5 H T #M B 51 51 102 30 72 3B BEEEHE 49 64 113 26 87
6 x H &K 45 50 95 23 72 36 T B M F 58 60 118 30 88
7 B OB ¥ = 43 43 86 12 74 37 KA JI BE 51 56 107 19 88
8 JX E # E 39 45 84 9 75 38 M F &K F 53 50 103 14 89
9 ZEEHF F 44 48 92 16 76 39 & K B 1 45 52 97 8 89
10 NMNEREREEBEBR 46 51 97 21 76 40 H Lt E M 45 59 104 14 90
11 M B & . 46 51 97 21 76 41 XK ¥ B X 51 51 102 11 91
12 Kk XK HE B 46 53 99 23 76 42 #H E K B 45 60 105 13 92
13 B B & M 45 44 89 12 77 43 A/ JIl ¥ A&/ 55 48 103 10 93
14 & H 1 X 42 47 89 12 77 4 % EH & X 51 55 106 12 94
15 3 B # B 39 44 83 6 77 45 I B BE 49 59 108 14 94
16 F Bk B L 41 51 92 15 77 BB #f K # R F+ 55 50 105 10 95
17 & £ 1B % 41 47 88 10 78 47 % K g 55 53 108 12 96
18 X F B B 43 46 89 10 79
19 K & % F 48 52 100 21 79
20 # K E 1 44 48 92 13 79
21 B #h H S F 45 52 97 18 79
22 B E 46 58 104 25 79
23 & @ I 44 51 95 14 81
24 %% H Bl X 48 55 103 21 82
25 A &R B # 52 48 100 17 83
260 — # & 49 49 98 15 83
27 ¥ W EF — 46 52 98 15 83
28 A B B H 49 55 104 21 83
29 B EH X F 43 52 95 12 83
30 B H ¥y F 53 47 100 16 84




MEN BRIER

¥a 8 TR30&E1 A3H
JE 52 K 4% OUT IN GROSS Hcp NET JE 52 E 4% OUT IN GROSS Hecp NET
EBi 1B B Hf & 43 M 84 17 67 31 % K & H 45 55 100 19 81
2 0 kg &/ £ 38 36 74 4 70 32 % % BE — 471 47 94 12 82
3 M B F — 43 43 86 16 70 33 XK & F # 51 51 102 20 82
4 H B £ = 37 44 81 10 71 34 B H 7™ © 471 52 99 17 82
5 X I E B 40 38 78 6 72 35 ® H F — 43 50 93 11 82
6 M0 @ B " 49 47 96 24 72 36 F H fi F 48 49 97 14 83
7 K RN E & 42 45 87 15 72 37 M AN M — BB 47 49 96 13 83
8 M & E th 35 40 75 3 72 38 f# H E & 50 53 103 20 83
9 K # Bh R 47 46 93 20 73 39 H H# X B 53 56 109 26 83
10 EFHRAER 47 48 95 21 74 0 % R ¥ E 43 47 90 6 84
11 FE @B X # 39 53 92 18 74 41 th B £ 39 52 91 7 84
12 H B IE & 44 46 90 15 75 42 X % B th 45 58 103 18 85
13 [ H Bl 41 44 85 10 75 43 H ) % 45 53 98 12 86
14 # ¥ F 1T 39 45 84 9 75 4 B K B2 53 61 114 28 86
15 8 K BB F 44 46 90 14 76 45 & K £ B 41 51 92 5 87
16 H & I £ 48 52 100 24 76 46 XK ¥ £ & 57 51 108 18 90
17 x B m K F 42 54 96 20 76 47 Xk H #&# X 48 53 101 11 90
18 R B B = 43 44 87 10 77 48 %8 JIIl IE % 62 57 119 28 91
19 K kR % B 38 44 82 5 77 BB # H # Z 63 57 120 19 101
20 & HF E BH 39 45 84 7 77 50 [l & HE # 66 65 131 25 106
21 & H E B 46 49 95 17 78
22 A JI XK & 31 43 80 2 78
23 E B & B 42 48 90 12 78
24 ¥ B 7 X F 39 48 87 9 78
25 ¥ B % ® 38 50 88 10 78
26 H F #¥ i 50 47 97 18 79
27 #H RKEHE F 45 49 94 15 79
28 % K — %= 36 52 88 9 79
20 U g w #F 44 52 96 16 80
30 M H E F 44 64 108 28 80




